Name Test 2

CHEM 0203 (Organic) Spring 2022

1. a. (2 pts. ea.) Identify the following compounds as acid chlorides, esters, carboxylic acids,
or amides. 1.
b. (4 pts. ea.) Provide IUPAC names for the following compounds.
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2. (12 pts.) Draw a resonance contributor for the molecule drawn below.
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3. (12 pts) The reaction drawn below is not reversible. Briefly explain why the molecules on the
right cannot react to form the molecules on the left.
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6. (6 pts. ea.) Predict the products for the following nucleophilic acyl substitution reactions.
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7. (12 pts.) Briefly explain why aminolysis of an ester cannot be catalyzed by the addition of acid.
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8. (12 pts.) Briefly explain why acid chlorides are more reactive toward nucleophilic acyl
substitution reaction than amides.
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9. (12 pts.) Draw the mechanism for the hydrolysis of the following ester. Include electron

movement?wws—andgnember to show all proton transfers.
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